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Guess Paper - 2014
Class - XI
Subject - Mathematics

1. A survey of 500 television viewers, 285 watch foot ball, 195 watch hockey,115 watch

basket ball,45 watch foot ball and basket ball, 70 watch foot ball and hockey, 50 watch

hockey and basket ball and 50 do not watch any of the three games.How many watch
all the three games?
2. The larger hand of a clock is 42cm long.How many cms does its extydmi Q1N

Minutes ?

OR

X X T
Find sin — and cos— ifcosx = ‘Tl, il
2 2 2

www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.aipmtguess.com | www.aieeeguess.com |
www.niosguess.com | www.iitguess.com



http://www.cbseguess.com/
file:///C:/Users/php2/class%2010/www.cbseguess.com

Cbsefg http://www.cbseguess.com/
uess

Letf(x)= x +1, g(x)=2x — 3 be two functions defined over the set of real

numbers.Find f+g, fg, i and gg
8

6. At what point on the parabola y® =8x where the ordinate is three times ther abscissa.
OR

Find the equation of the ellipse with foci at (% 3,0) and passing through (4,1).

7. How many three digit odd numbers can be formed by using the digits 2,3,4,5,6,7 when

repetition of digits allowed?

Lim x*-2 1 Lim  tan2x
8. Evaluate > b 5 OR 0
x—>1x"—x x*-3x"+2x x—=>45 (x-=14)

xsecx+tanx
9. Differentiate w.r.t x:(a)sin2x (b) —

xsecx—tanx
10.If “@’and ‘b’ are the roots of
x> =3x+p=0 and 'c'and'd'arethe roots of x> —12x+q =0 where a,b,cand d

form a G.P.Prove that(g+p):(g-p) =17:15.
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11.Find the equation of the line passing through the point (3,-2) and is inclined at 60° to

The line \/§x+y:1.

10
S
3
12. Find the term independent of x in the expansion of 2x

OR
If the coefficients of second,third and fourth
termsof (1 + x)*" arein A.P;Showthat 2n*> —9n+7 =0.
j and
3 NV
8 8 8

age of the point (1,2) in the line x-3y+4=0.
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Lim (x4+x"+x" +...... +x")—n (b) Lim  sin(3+ x) —sin(3 — x)
x—1 x—1 x—0 X

18. Evaluate (a)

I1
19.Using the definition of derivative ,find the derivative of cos(x— g)

OR

Differentiate x secx from first principle.

20.A rod of length 12 cm moves with its ends always touching the co-ordinate axes .
Determi9ne the equation of the locus of a point on the rod which is 3 cm from the
end in contact with x-axis.

21.Solve graphically: X +y<s5,4x +y24, x +5y25, x<4,y<3, x20,y=20.

1+ )1 +/3)

22.ConvertT OR 1+cos@+isin@ in polarform.
—i

23.Prove that cotA+cot(60+A)- cot(60-A) =3 cot3A.

OR
1
Prove cos20. cos 40. cos60. cos 80 = E

24.Find the equation of the circle passing through the points (4,1) and (6,5) and whose
Centre lies on the line 4x+y=16
OR

Prove that the points (1,6),(5,2),(5,0) and (-1,-4) are concyclic.
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_ P 1P+2 1
25. Find the sum :T+ 5 + + Y 3

OR

26.Prove by inductio

, sin(2" )
2" sin @

forallne N

n(n+3)
dn+D(n+2)

OR

1n+2 22n+1

Prove by induction that 1 +1 is divisible by 133 for all natural numbers
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